Interrogative and negative sentence


	Tense 
The form 
	Present simple 
	Past simple
	Present perfect 
	Present continuous 
	Past perfect 
	Past continuous
	future

	The Assertive form 
	S+V+OBJECT
Eg : he uses the laptop 
	S+V+OBJECT 
Eg: he used the laptop 
	S+HAS/HAVE+P.P+OBJECT
Eg: he has used the laptop 
	S+IS/AM/ARE+V+ING+OBJECT
Eg: he is using the laptop 
	S+HAD+P.P+OBJECT
Eg: he had used the laptop
	S+WAS/WERE+V+ING+OBJECT
Eg: he was using the laptop 
	S+WILL/SHALL+V+OBJECT 
Eg: he will use the laptop 

	The interrogative form 
	DO/DOES+S+V+OBJECT
Eg : does use the laptop ?
	DID+S+V+OBJECT 
Eg: did he use the laptop?
	HAS/HAVE+S+P.P+OBJECT
Eg: has he used the laptop?
	IS/AM/ARE+S+V+ING+OBJECT
Eg: is he using the laptop?
	HAD+S+P.P+OBJECT
Eg: had he used the laptop?
	WAS/WERE+S+V+ING+OBJECT
Eg: was he using the laptop?
	WILL/SHALL+S+V+OBJECT 
Eg: will he use the laptop?

	The negative form 
	S+DO/DOES+NOT+V+OBJECT 
Eg : He does not use the laptop 
	S+DID+NOT+V+OBJECT 
Eg: he did not use the laptop 
	S+HAS/HAVE +NOT+P.P+OBJECT 
Eg: he has not used the laptop 
	S+IS/AM/ARE+NOT+V+ING+OBJECT 
Eg: he is not using the laptop 
	S+HAD+NOT+P.P+OBJECT
Eg: he had not used the laptop 
	S+WAS/WERE+NOT +V+ING+OBJECT 
Eg: he was not using the laptop 
	S+WILL/SHALL+NOT+V+OBJECT
Eg: he will not use the laptop 




